
Subject: Re: Beginner, Question
Posted by Yngvar Larsen on Thu, 03 Sep 2015 12:31:15 GMT
View Forum Message <> Reply to Message

On Thursday, 3 September 2015 13:43:18 UTC+2, Fabien  wrote:

>  - it would be much nicer to be able to do:
>  
>  IDL> a = list([1, 2, 3], DICTIONARY('a', 1, 'b', 2))
>  IDL> a[0][1]
>          2
>  IDL> a[1].b
>          2
>  
>  instead of the current syntax:
>  
>  IDL> (a[0])[1]
>          2
>  IDL> (a[1])['b']
>          2

IDL> a = list([1, 2, 3], DICTIONARY('a', 1, 'b', 2)) 
IDL> a[0,1]
       2
IDL> a[1,'b']
       2

-- 
Yngvar
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